THRISEE

B LTI HKE
5 zpnk:3cs — CODEHR |B(H#H) XEERX
) St.1 ER-BER I EEA) M50 :EE
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 B&
48 Fh 20.3 18.1 17.7 7.6 2.7 - kef-h| &|S
68| ==Y 25.0 24.0 23.9 10.0 6.1 BE -t |
8H| ==Y 29.0 28.6 28.6 10.0 6.2 BE xE-E |
108 £ 24.6 27.0 26.8 9.0 3.2 B kEaf-E| &R
128 Eh 11.0 19.1 19.1 9.8 6.7 BE e |
28] BEh 175 16.1 16.1 10.0 8.2 BE | FRe-h) #E
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
i (mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEE| 7.8~83] 50LLE | 30LLF — FERH 0.3LLF | 0.03LLF
EHE(75%1E) - 7.6 1.0(0.9) - <0.5 0.20 0.028
4H =B 8.3 7.9 0.9 - <0.5 0.16 0.032
B 8.3 7.9 0.9 - <0.5 - -
65 =B 8.2 75 0.7 - <0.5 0.18 0.033
B 8.2 7.4 0.6 - <0.5 - -
8 g =B 8.2 7.0 1.1 - <0.5 - -
B 8.2 6.8 0.9 - <0.5 - -
108 =B 8.3 7.4 1.8 - <0.5 0.30 0.029
B 8.3 7.2 15 - <0.5 - -
128 =B 8.4 7.6 0.9 - <0.5 0.15 0.017
B 8.4 7.8 0.9 - <0.5 - -
25 =B 8.3 8.6 0.8 - <0.5 - -
B 8.3 8.5 0.8 - <0.5 - -
BEEB (REBDHAEHHR)
LIS INIESD P E ANEo0OL TS fikéR |7L¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001LF | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JEtRH |
E{E]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8A - - - - - - - -
108]| <0.002 - <0.005 <0.02 0.002 <0.0005 - -
128 - - - - - - - -
28 - - - - - - - -
ooyoni| mie [1,2->900] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
sy B THY IFLy | BAIFLY | AIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0021F | 0.004LLTF | 0.02LLF | 0.04LLF 1UF 0.006LLF | 0.03LL'F
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #{E] 001LLTF 000280 F | 0.006LLF | 0.003LLTF [ 0.02LLF | 001LLF | 001LLF | 10LLF
EfE]  <0.001 ] <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
4R - - - - - - - -
68| <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
108] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2A - - - - - - - -
ZTDhIEE
IV L
Jx/—)L gl SS 2% | r/oAakILLA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 0.005 - -
=E - - 2 - - -
4H ;E _ _ 2 — — —
—_ —_ <1 —_ —_ —_
EAC] - - A 0.005 - -
=E - - 2 - - -
10R ; E - - > - - -
—_ —_ 1 —_ —_ —_
12R ; E - - ] - - -
—_ —_ <1 —_ —_ —_
Bkt | EaaE . .
(mg/1) (mg/1) (mg/1)
EHE] 19000 - 0.01
4H == 19000 — 0.02
th8 19000 - -
65 == 19000 - <0.01
th8 19000 - -
== 19000 - -
8R —mE T 18000 . .
== 19000 - 0.01
10A th S 19000 - -
== 19000 - <0.01
128 th S 19000 - -
EAC] 19000 - -
2R —mm [ 19000 = =



THRISEE

A L C LK
i 2 M0 - COD¥ER! | AHENR) = pUbY:3c
St.2 ER-MEB O (B R) HilZEig
—iRIEH _
K@ (°C)
| X |KIE(CC) =E hE 2IKiR A Fiin =X R
48 g 20.6 18.1 175 10.1 4.2 - SR ER
6H| BZY 23.0 24.0 24.0 13.0 9.3 BE Exkfa-h| &R
8H| #=Y 29.3 28.2 27.9 17.0 8.2 k) kER-p| ®|ER
108 =) 25.3 26.8 26.8 13.0 5.9 BE kER-h| E|R
128 Fh 11.1 20.1 20.1 12.5 10.3 BE ZE-m mR
28l ®Bh 17.0 17.1 16.9 13.0 12.0 BE | FRe-h) &S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 756U F | 20LLF | 1000LIF | JEietH 03LLF | 0.03LLF
EHE(75%IE) - 7.6 0.8(1.4) - <0.5 0.14 0.015
4H == 8.3 8.3 0.9 = <0.5 0.13 0.025
th & 8.3 8.0 0.6 - <0.5 - -
65 =B 8.3 7.2 0.5 - <0.5 0.17 0.009
th & 8.3 7.1 0.7 - <0.5 - -
8 g =B 8.2 6.8 1.0 - <0.5 - -
th & 8.2 6.8 0.7 - <0.5 - -
108 =B 8.3 7.3 0.8 - <0.5 0.11 0.010
th & 8.3 7.1 0.6 - <0.5 - -
128 =B 8.4 7.7 0.9 - <0.5 0.14 0.015
th & 8.4 7.8 1.0 - <0.5 - -
25 =B 8.3 8.3 0.7 - <0.5 - -
B 8.3 8.3 0.8 - <0.5 - -
BEEE (REBDHEHA)
NP INIESY & ED Ao L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y B&R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




7_'|‘57|:||:| 1,3_:)7D - > TS &~ S L 2N
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E# ] 0.01LLF 00020 F [ 0.006LLF [ 0.003LLF | 0.02BLF | 0.01ELF | 001LLF | 10LLF
EF_EE — — — — — — — —
a8 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - —
128 - - - - - - - —
28 - - - - - - - -
ZTD{hIFH
. ] WA
Jx/—) 7] SS ey |(sookILA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EOE| - - 1 - - —
T - - < - - -
4H ;E _ _ -I _ _ —
6 — — <1 - - -
R — — <1 - - -
] - - <1 - — -
Oﬁ ;E _ _ A — - —
] - - <1 - — -
o — — <1 - - -
Al om | - q - - -
fi‘ﬁ@ iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - 0.01
48 =B 19000 - 0.02
th |2 19000 — —
68 xE 19000 — <0.01
th 2@ 19000 — —
xE 19000 — —
8A —mE T 19000 - -
%E 19000 — <0.01
10A th S 19000 - -
xE 19000 — <0.01
128 th S 19000 - -
=B 19000 — —
2R [ mm [ 19000 = =



THRISEE

BA L CILHKE
5 zpnk:3cs — CODEHR |B(H#H) HiEAEX
" St.3 ER-HER I EES) =:pub3c
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin =Xz ~ B&
4 Eh 22.5 17.4 17.2 6.5 45 - ERE-%] &R
68| ==Y 23.8 23.8 23.6 7.0 4.2 BE ZE - mR
8H| ==Y 29.7 29.6 28.7 7.0 4.0 BE xR |
108 £ 26.0 26.8 26.8 5.3 3.2 B kEaf-E| &R
128 Eh 12.8 19.1 19.0 6.1 5.2 BE ek |
28 Eh 17.0 15.8 15.8 6.0 43 EE | Hikf-h| &R
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 7.8~83] 50LLE | 30LLF — FERH 0.3LLF | 0.03LLF
EHE(75%E) - 7.5 1.1(1.4) - <0.5 0.18 0.024
4H =B 8.3 7.9 <0.5 - <0.5 0.16 0.028
B 8.3 8.0 0.7 - <0.5 - -
65 =B 8.2 7.8 15 - <0.5 0.20 0.023
B 8.2 7.2 14 - <0.5 - -
8 g =B 8.3 7.8 15 - <0.5 - -
B 8.3 7.0 1.3 - <0.5 - -
108 =B 8.3 6.3 1.1 - <0.5 0.20 0.028
B 8.3 6.5 14 - <0.5 - -
128 =B 8.3 7.3 0.8 - <0.5 0.15 0.016
B 8.4 7.6 0.9 - <0.5 - -
25 =B 8.2 8.2 0.8 - <0.5 - -
B 8.3 8.4 1.0 - <0.5 - -
BEEB (RBDHEHHR)
LIS INIESD P E ANEo0OL TS fikéR |7L¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001LF | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JEtRH |
EHE]  <0.002 - <0.005 <0.02 0.002 <0.0005 - -
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8A - - - - - - - -
108]| <0.002 - <0.005 <0.02 0.002 <0.0005 - -
128 - - - - - - - -
28 - - - - - - - -
oooni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0021F | 0.004LLTF | 0.02LLF | 0.04LLF 1UF 0.006LLF | 0.03LL'F
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - - -




Fh5490n(1,3-o450 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| (Bl 0.01LLTF [0.00280F [ 0.006LLF | 0.003LLF [ 0.028LF [ 001LLF [ 0.01LLF [ 10LLF
[ EE] <0.001 ] <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
4R - - - - - - - -
6A] <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
108] <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
128 - - - - - - - -
2A - - - - - - - -
ZDhIEE
IV L
7z/—) gl SS SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 0.007 - -
=E - - <1 - - -
4H ¢E _ _ <1 _ _ _
=RE - - 2 - - -
- - 1 0.007 - -
—_ —_ <1 —_ —_ —_
10R ; E - - ] - - -
—_ —_ <1 —_ —_ —_
12R ; E - = 1 — - -
—_ —_ <1 —_ —_ —_
bR () WHIHERE . .
(mg/1) (mg/1) (mg/1)
EHIE] 19000 - 0.01
EAC] 19000 — 0.01
4R —mE 19000 = -
65 EAE] 19000 - <0.01
B 19000 - -
EAE] 18000 - -
8R %@ [ 18000 - -
EAE] 18000 - <0.01
10A th S 19000 - -
EAE] 19000 - 0.01
128 th S 19000 - -
EAE] 19000 - -
2R [ mm [ 19000 = =



THRISEE

B LTI HKE
Dt ] bi- A5 EiE
S L CODEH! A(J;-.g%,m) m;‘_.%fw
St4 ER-MEB O (EER) Hi0ZEE
—iRIEH _
KB (°C)

1 _XE [KE(CC) =B hE 2IKiR A Fiin =Xz R
4R g 20.2 17.9 17.2 7.3 4.3 - Shkfa-h| ER
6H| BZY 25.2 23.9 23.8 8.0 6.5 BE R - mR
8H| B&Y 31.1 29.0 28.8 9.9 6.0 BE B mR

108 £ 26.3 26.6 26.6 8.1 6.3 BE kER-h| E|R
128 Eh 13.2 20.0 20.0 9.0 8.0 BE Bz me
28] BEh 17.1 16.9 16.9 8.0 5.9 BE | FRe-h) &S
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
B (75%IE) - 7.7 0.9(1.0) 250 £0.5 0.15 0.019
4H == 8.3 7.9 0.6 = <0.5 0.23 0.029
th & 8.3 8.0 0.5 - <0.5 - -
65 =B 8.2 7.8 1.4 0.0 <0.5 0.16 0.016
th & 8.3 7.6 15 - <0.5 - -
8 g =B 8.3 7.1 1.0 - <0.5 0.15 0.021
th & 8.3 6.8 1.0 - <0.5 - -
108 =B 8.4 7.5 1.0 490 <0.5 0.14 0.018
th & 8.4 7.3 1.3 - <0.5 - -
128 =B 8.3 7.7 0.8 - <0.5 0.09 0.012
th & 8.4 7.9 0.8 - <0.5 - -
25 =B 8.2 8.3 0.6 - <0.5 0.12 0.017
B 8.3 8.3 0.6 - <0.5 - -
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
EHE]  <0.002 - <0.005 <0.02 0.002 <0.0005 - -
478 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8AH - - - - - - - -
108] <0.002 - <0.005 <0.02 0.002 <0.0005 - -
128 - - - - - - - -
28l - - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




Th3H0a|1,3-S4H0 = [N FARY Sv 45 . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EE] 001LLF [0.00251F [ 0.00654F [0.00350F [ 002LLF [ 001LLF | 001LF [ 10LLF
| E#9fE] <0001 [ <00002 [ <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
4A - - - - - - - -
6A] <0001 | <0.0002 | <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
sA[ - - - - - - - -
108] <0.001 | <0.0002 | <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
28 = = = = = = = =
ZDHMIEE
Jz/—L| @ Ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 0.005 - -
T - - < - - -
—_ —_ ‘I —_ —_ —_
- - <1 0.005 - -
8R o - - G - - -
3 = = 1 = = =
10R ; E - - ] - - -
—_ —_ <1 —_ —_ —_
1 2 ﬁ q: E _ _ A — - —
3 = = < = = =
By | EIHERME . .
(mg/1) (mg/1) (mg/1)
18] 19000 — 0.01
4R EC] 18000 - 0.02
hE 19000 - -
6 E] 19000 - <0.01
g 19000 - -
E] 19000 - -
8A 5@ [ 1000 = =
E] 18000 - <0.01
10A th S 19000 - -
E] 19000 - <0.01
128 th S 19000 - -
E] 19000 - -
2R [ mm [ 19000 = =



THISEE

BA L CILHKE
5 M50 _— COD#E®R! |A(H#BIE) Hi0EEE
" St5 ER-BER I EES) =:pub:c
—i%IEH
/K& (C)

1 _XE [KE(CC) =E hE 2IKR A Fiin =Xz B&
4R Eh 20.7 17.5 17.4 16.8 45 - aEe-%| ER
68| ==Y 23.8 24.2 24.1 28.0 10.0 B He-Ems)| EBR
8H| ==Y 30.2 28.7 28.3 17.0 8.6 BE R &R
10A| ==Y 26.6 26.7 26.7 15.0 7.9 BE - |
128 Eh 11.8 20.3 20.3 225 11.3 BE ke |
28 Eh 17.3 16.4 16.3 26.0 13.0 EE | Hikf-h| &R

4RIRIRIBER
oH DO COD | ABEER n~XvoH ZZ% 2%
i (mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%E) — 7.4 0.7(0.8) — <0.5 0.12 0.021
=B 8.2 7.7 0.6 - <0.5 0.15 0.036
4R B 8.3 7.8 0.7 - <0.5 - -
=B 8.2 7.0 0.8 - <0.5 0.11 0.016
6A B 8.2 6.9 0.8 - <0.5 - -
=B 8.3 7.0 0.7 - <0.5 - -
8A B 8.2 6.8 0.6 - <0.5 - -
108 =B 8.3 6.5 0.7 - <0.5 0.12 0.011
B 8.3 6.7 0.8 - <0.5 - -
=B 8.4 7.8 0.8 - <0.5 0.11 0.02
128 thg 8.4 7.8 0.8 — <05 - -
=B 8.3 8.2 0.6 - <0.5 - -
2R B 8.3 8.3 0.6 - <0.5 - -
BEEB (REBDHAEHHR)
L INIINIEDS S ET) i f7 A=A T fikER |7ZL¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 0058 F | 001LLF [0.0005LLF | FEHEH JEtRH |
EF_EE — — — — — — — —
48 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
vonnoi | miEk [1,2-0900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | AIAY Axsy | IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LLF 0.006LLF | 0.03LL'F
EF‘@E _ _ _ _ _ _ _ [ _ |
48 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




TEZORRILETZE Fosa | vy | A | moby | by [MRERERS
7y:] I = = = = = = -
;1 - - - - - - -
;] - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
Al - | - - - - = - -
ZOHER

Jz/—0L| 4 ss 2ER |soofkus| s

TEE (m%/ 1) (m%/ 1) (m%/ 1) (m%/ 1) (mg/1) (mg/1)
e e e e e
or TERL
e e e e e
T o e et e e e
T e e e e
2A 2R - < - - -

Bl | BEEE ) ome
E—
ST —
on R fum T~
| i e
on | 28 Do oo
o[ A8 Tum T
28 R T oo T -



THRISEE

B LTI HKE
DiaE ] o5 0T
5 zpuk3cy — COD¥EE! | A(##BIA) E:_Efﬁu
St.6 ZEXR-BER T (HBIR) Hi0EEE
—iRIEE _
K@ (°C)
| X |KIE(CC) =E hE 2IKiR A Fiin =X R
48 Eh 21.5 18.2 17.4 9.6 4.3 - ERE-%] &R
6H| BZY 24.8 24.7 24.2 8.0 >8.0 BE ZE - mR
8H| EBZY 29.7 29.2 28.2 15.0 6.2 BE xE-E mR
10A] E=Y 27.0 26.6 26.6 13.7 6.5 BE kER-h| E|R
128 Eh 12.3 19.9 19.9 15.0 11.0 BE xf-h mR
28l ®Bh 19.0 16.9 16.8 13.0 11.3 BE | FRe-h) &S
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75U F | 20LLF | 1000LIF | JEieth 03LLF | 0.03LLF
B (75%IE) - 7.7 0.8(0.9) - <0.5 0.15 0.025
4H == 8.3 9.0 0.6 = <0.5 0.17 0.041
th & 8.3 8.2 0.5 - <0.5 - -
65 =B 8.2 8.0 1.1 - <0.5 0.14 0.021
th & 8.2 7.3 1.1 - <0.5 - -
8 g =B 8.3 7.7 0.9 - <0.5 - -
th & 8.3 7.3 1.0 - <0.5 - -
108 =B 8.3 6.6 0.7 - <0.5 0.19 0.019
th & 8.3 6.5 0.7 - <0.5 - -
128 =B 8.4 7.6 0.8 - <0.5 0.11 0.019
th & 8.4 7.6 0.8 - <0.5 - -
25 =B 8.3 8.3 0.5 - <0.5 - -
B 8.3 8.4 0.6 - <0.5 - -
BEEE (REBDHEHA)
NP INIESY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




Fr5500]1,3-540 — e o een ~e N
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E# ] 0.01LLF 00020 F [ 0.006LLF [ 0.003LLF | 0.02BLF | 0.01ELF | 001LLF | 10LLF
EFEE — — — — — — — —
a8 - - - - - - - -
6A[ - - - - - - - -
8A - - - - - - - -
108 - - - - - - - —
128 - - - - - - - —
28 - - - - - - - -
ZTDhIEH
. - WA
Iz/—) ) Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EOE| - - 1 - - —
T - - < - - -
6 — — A - - -
R — — A - - -
] - - A — — -
] - - % — — -
2 ﬁ ;E _ _ A — - —
o — — A - - -
Al om | - q - - -
fi‘ﬁ@ iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE|_ 20000 - -
=B 19000 - 0.01
48 —mm 19000 . .
6 xE 19000 — <0.01
th B 19000 — -
=2 19000 — -
8A —mE T 19000 - -
%E 18000 — <0.01
10AR th S 18000 - -
xE 19000 — <0.01
128 th S 19000 - -
=2 19000 — -
2R [ mm [ 19000 = =



THRISEE

BA L CILHKE
=pub3e) CODHR! |A(E#S) ==pUbeFis
el ] : —
St.7 EXR-BER D (RER) H37Z &
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin =Xz B&
48 Eh 21.7 17.7 17.4 24.2 5.8 - S ms
68| ==Y 235 24.3 24.1 27.0 13.0 BE Fﬂiﬁ =g &5
8H| ==Y 29.5 28.3 27.9 24.0 8.7 BE ERf-h| &R
10A] E=Y 26.0 26.7 26.7 26.8 8.2 BE Exf-th| &R
128 Eh 12.5 20.4 20.5 26.9 12.0 BE ﬁﬁﬁ th |
28 Eh 16.0 17.4 17.3 20.6 16.0 EE | Hikf-h| &R
4RIRIRIBER _ _
oH DO CcoD KIGERY In-~FHof 22F Ey
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%ME) — 75 0.7(0.9) 6.5 <0.5 0.13 0.023
4H =B 8.3 8.1 <0.5 - <0.5 0.15 0.044
B 8.3 8.2 0.5 - <0.5 - -
65 =B 8.2 7.0 0.9 0.0 <0.5 0.08 0.004
B 8.2 7.1 0.8 - <0.5 - -
8 g =B 8.3 75 1.0 - <0.5 0.17 0.020
B 8.3 7.0 1.0 - <0.5 - -
108 =B 8.3 6.7 0.5 13 <0.5 0.13 0.013
B 8.3 6.7 <0.5 - <0.5 - -
128 =B 8.4 7.6 0.7 - <0.5 0.10 0.036
B 8.4 7.6 0.7 - <0.5 - -
25 =B 8.3 8.0 0.9 - <0.5 0.13 0.018
B 8.3 8.1 0.7 - <0.5 - -
BEEB (REBDHEHHR)
LININIESD P E ANloOL T fikER |7L¥LKE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001 F | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JEtRH |
E{E]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8A - - - - - - - -
108] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2A] - - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lz-12-C4|1,1,1-k) Al 11,2-ky4a | MO0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0021F | 0.004LLTF | 0.02LLF | 0.04LLF 1UF 0.006LLF | 0.03LL'F
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
;1 - - - - - - -




Th3H0a|1,3-S4H0 = [N FARY Sv 45 . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EqE] 0.01L0F | 0.00200F [ 0.00650F | 000350 F [ 0.02LLF | 0.01LLF [ 001LTF | 10MTF
| F19fE] <0001 [ <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
4H - - - - - - - -
68| <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
10A] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2A - - - - - - - -
ZDHIEHE
IV L
/- ] SS SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - < <0.005 - -
RIE - - <1 - - -
4ﬁ ¢E _ _ <1 _ _ _
RE - - <1 - - -
=B - - <1 <0.005 - -
8R o - - G - - -
RE - - <1 - - -
1 O ﬁ q: E _ _ <1 — — —
RE - - <1 - - -
12R th S - - 2 - - -
RE - - <1 - - -
Biey | EHEEM . .
(mg/1) (mg/1) (mg/1)
18] 19000 — <0.01
48 E3] 19000 - <0.01
hE 19000 - -
65 =B 19000 - <0.01
hE 19000 - -
=B 19000 - -
8A m@ [ re000 = =
=B 18000 - <0.01
10A th S 18000 - -
=B 19000 - <0.01
128 th S 19000 - -
=B 19000 - -
2R —mm [ 19000 = =



